S-4584 Sub. Code

23BCC1C1

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024

First Semester
Commerce with Computer Application
FINANCIAL ACCOUNTING -1

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all the questions.

What is Journal?

GSOLICUE eTeTmTed eTebre ?

Give the meaning of Trail Balance.
@@muuniey ererUger CLMmET &(hs.
What is Trading Account?

HWMUINTS HEWTE G, CTETDTE) GTEITET ?

What is sole trading concern?

saflpLT euanfleEd eTemmmed ereme ?
What is Bills of Exchange?
wIHmE F B TETDHTED 6TETET ?

What is depreciation?

CaUIDTETD 6TETHITED CTETET ?



7. What is double entry system?

@rlenl udley (pevm CTETMTE GT6ITE ?

8. What is conversion method?

THDOID (LPEDDH GTETMITED 6TETET ?

9. What is Royalty?

2 M eTeTmmed Gresen ?

10. What is Recoupment of short workings?

GODHS 2 HuSHew I L6 erammmed eremen ?
Part B (5 x 5=25)
Answer all the questions choosing either (a) or (b)

11. (a) Journalise the following transactions:

Rs.
Purchased goods for cash 25,000
Purchased stationery for cash 1,000
Sold goods for cash 5,000
Paid salary of 18,000

Paid freight to goods purchased 250
Gereumid efleurmhisEns@ GHMUGCL®H Lo SmHs.

€.

Qrréssdn@ Qsmarpssd CFligg 25,000
QrréasdH@ er(pg@ummer curmlug) 1,000
CrréssSn@ bos 5,000
sarluid QeisSuig 18,000

Uil QUThHETSERES@ F7&HE s Larh FQsslug 250

Or
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(b) Explain the functions of accounting.

sasdl e Liantlsamer 6flerd@s.

12. (a) Explain the objectives of Balance sheet.
@ UL Blevos@mier Crrésnisamen alerdE@s.
Or

(b) Prepare trading a/c of Devi for the year ending
31.12.98 from the following information.

Rs. Rs.
Opening stock 1,60,000 Purchases 9,60,000
Freight inward 50,000 Wages 26,000
Sales 16,00,000 Purchase returns 15,000
Sales returns 2,10,000 Closing stock 1,00,000
Import duty 50,000

Getreu(mLd ssaUbSaNd @)(HHE 31.12.98 (plgeuenL b
gamghasrar  Csafluller awruny  sarsdledl(mHs)

swmfl&ge] L.
{h- €.

QAsT_&8 1,60,000 Gsratpged 9,60,000
FT&E (HLIY
2 6T GI&E Fnedl 50,000 o) 26,000
ol puianar 16,00,000 Oamarapged Smuun 15,000
o mhLieneT 2,10,000 Qunif s7&SHLIL 1,00,000
SmLiLb
Goé@w0sl el 50,000

13. (a) Write short note on Discounting bill.
Snl @MUY eueprs : 2 a@Tiq e SeT@EnLlg 6N [HiFe
Or
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14.

(b) Ramu brothers purchased a machine on 1st July

2016 at a cost of Rs. 14,000 and spend Rs. 1000 on
its installation. The firm writes off depreciation at
10% of original cost every year. The books are closed
on 315t December every year. Prepare machinery
account and depreciation account for 2 years.
g Hlneuard O 1,2016 & Qubdyd @etanm
eh. 14,000 &@ aumadlugl g Hiniejeusnd@ p. 1,000
Qeoeulssgl. Hlmeuard Hlaasselament wpeapmuildr 10%
<garh  Commd  Cswwrerd  BsHwugl.  geubeumm
QY@THD SEMTESGSET IGFDUT 3160 (WPlg&sLiLi(Hdlemmen.
e Qranh arhsErse Qupdly sarsg whmib
Cawinrer savrsdlanar swmfléEse]b.

(a) What is single entry? What are its salient features?
@hen LSle (PD ETETDTD ETETET? ASHE (PSHSIW
S| LDFMIGHET GTGITGHT ?

Or
(b) From the following particulars ascertain profit or
loss
Rs.

Capital as on 1st April 2018 1,60,000
Capital as on 31st March, 2019 1,50,000
Additional capital introduced during the year 25,000
Drawings made during the year 30,000

Gemeu@pd  eleugmsaiadmbg  @eoruld g BHLLLD

SeET&HSE La|b.

€.

2018 griagéd 1 @ Wps® 1,60,000

2019 wrrE 31 @ed (WPHed 1,50,000

Slcueunager dsranh aubs O WL 25 000

D{GUGUTEHTI 60T 6T (HLIL| &6 30,000
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15.

(a) A fire occurred at the premises of a trader on

(b)

31.5.94 destroying a great part of his goods. His
stock at 1.1.94 was Rs. 60,000. The value of stock
salvaged was Rs. 13,500. The gross profit on sales
was 30% and sales amounted to Rs. 1,53,000 from
Jan to date of fire, while for the same period the
purchased amounted to Rs. 1,03,500. Prepare a
statement of claim.

31.5.94 ety @ eNwrurfller euetrasHer &
Mlugg ghHUlLG. 1.1.94 m  SeU@HeL W
Fr&E(mUIL . 60,000. § elugded  eumenw
QumpLsafled Qu(pb WIGES SIPSSILLLG).
sTUUTSSLILL L grddler UL @ 13,500.
dpuearie Gorssorud  30% wHMIL  elHLeer
wdLiy gareufl s & Musg egpurL Csdl euany
clpuearuder wHiL em. 1,53,000 ACH srEHL LSSl
Qametapsedd WL ep.  1,03,500 oManw  Csmyed
Sifsms swTiés.

Or

A company leased a colliery on 1.1.2007 at a
minimum rent of Rs. 25,000 merging in to a royalty
of Rs. 1.70 per tone with power to recoup short
workings over the first 4 years was 10,000 tonnes.
12,000 tonnes 16,000 tonnes and 20,000 tonnes
respectively. Show the analytical for four years.

@ Bneead Hlossfl srmsb gaon GSS0S
1.1.2007 e (S (HEEDG eubeum(m Lerens@h
. 1.70 oflevd CgrenssE wamhsE . 25,000
GODBS euUTLMESGE WdHudter OQzreasaw ADSS
Bren@ <y eiger 2 flenwn Ggrensuier sflas L Gouem(Hib
s 4 Yamhseller Hlossl srhsssear o HLSH
efeuyb 10,000 Leir, 12,000 Leém, 16,000 Lér 20,000
Ler  eratm  (pewpuiled  Gdsamastrilar  ghsafd
4 g a@mhsaller UGSSTIIG| L L eUMETal GUNTS.
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Part C (3x10=30)

Answer any three questions.

16. Explain the accounting conventions.

sasSlwedlen L Emer cileTsdl gnmis.

17. From the following trail balance and adjustment of
Mr. Krishna prepare his final account as on 31.3.2021

Rs. Rs.

Opening stock 22,000 Debtors 32,000
Cash 1,580 Bank overdraft 9,000
Plant and machinery 17,500 Creditors 10,650
Trade expenses 175 Sales 1,34,500
Salaries 2,225 Carriage outwards 300
Carriage inwards 1,000 Bills payable 7,600
Rent 900 Insurance 1,200
Purchase 1,18,870 Commission 500
Buildings 34,500

Capital 70,000

Adjustments:

(a) Closing stock Rs. 11,000

(b) Rent Rs. 300 is unpaid

(¢) Depreciation plant — 10%, Building — 2%

(d) Commission earned but not received Rs. 200

(e) Prepaid insurance Rs. 400
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18.

&G Qasrhssiur L Smeaganrmaler @) Ui GCargenar wHmID

sflal_(hsdsmer  Caram@h  31.3.2021
STGGHMET SWTH&ES.

1.
QYTDL FTSE 22,000 &L armerfl
Qyrésid 1,580 eumdlGudeumrunm
Qumrdl wHmib 17,500 sLaBCgmT
Gupsld
elwimumy 175 &Spueer
Qeeveysar
FOLIGTD 2,225 Gouafl gré&@ sned
2 GTE5S 1,000 Ceausgisn@ilu
o601 LIHNFF [
QUTL & 900 &k
Aameiepged  1,18,870 sfle
SLlg LD 34,500
Pze 70,000
FM&L_L&er

(@) @mdl sr&dlmuy ep. 11,000

(<) Geaussiiu. Ceudmgw eurL_eng eh. 300
(@) Csuiwrend @uibHrb 10%
(F)  QupiiuLrg sle| fp. 200
(2) @per gl g Cu QeausdHw smilS@h ep. 400

, sligL b 2%

&ITeur

OIES

€.
32,000

9,000
10,650

1,34,500

300
7,600

1,200
500

On 1.1.2008 a firm purchased machinery worth
Rs. 1,00,000. On 1.7.2008 it buys additional machinery
worth Rs. 20,000 and spend Rs. 2,000 on its erection. The
accounts are closed each year on 31 December. Assuming
the depreciation to be 10% Show machinery a/c for

5 years under.

(a) Straight line method,

(b) Diminishing balance method

7
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1.1.2008 Sjemm @(h Blmieuerd ep. 1,00,000 WSlLiLeTer
@Qupbdrsens eurmEwug. 1.7.2008 emm @ 20,000
wdliyerer wHGpmm Qubsrsans eurmdl ep. 2,000 GFwa]
Qauig Blmelwg. ek Csrmibd wabuT 31 e
sEGEHET (PLsslunlarper. o arH&EE 10% Caulbmerd
eTand; Qsmarh) 5 Aer(hs@EREETEr QUBIT s

(@) Copir Cam(® wpenmuigiid,
(<) G®dDhs Ged @iy papulad surfés.
Arjun carries on grocery business and does not keep his

books on double entry basis. The following particulars
have been extracted from his books:

Particulars 1.4.2018 31.3.2019
Rs. Rs.

Plant and machinery 20,000 20,000

Stock 9,000 16,000
Sundry debtors 2,000 53,000
Sundry creditors 5,000 4,000
Cash at bank 4,000 6,000

Other information for the ending 31.03.2019 showed
following

Rs. Rs.
Advertising 4,700 Carriage inwards 8,000
Cash paid to creditors 64,000 Drawings 2,000

Total sales during the year were Rs. 85,000. Purchase
returns during the year were Rs. 2,000 and sales return
were Rs. 1,000. Depreciate plant and machinery by 5%.
provide Rs. 300 for doubtful debts. Prepare trading and
profit and loss a/c for the year ending 31st March, 2019
and a balance sheet as on the date.
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weflens s BLEH eu@mbd  TOear  semepenl
sasGEMmeT @Qrlel 1l udley @epule ugmwiiugdame
S{6U(HEL W ghsaiad(mba Qupriu L SEHGCUDSHET
e (mLomm).

efleugib 1.4.2018 31.3.2019
. €.
GQumdl wHmId GuBSrd 20,000 20,000
Fr&E (HLILY 9,000 16,000
UHLIQ SLarmetlser 2,000 53,000
uphue sLaibCHT 5,000 4,000
il Crrésnd 4,000 6,000

31.03.2019 <y préerm( (pueueLwb eriger LG
SEHEUDSET LAl6imel (HLomm)

- {h-
eflembLFd 4,700 2815 &6l 8 000
sLaBCsMT Nefllss Crrésnd 64,000 eTHULSET 2,000

20.

Sjeueuranriqenr Gwrss elbuemer . 85,000 C&meTLpSHed
Smuubd ep. 2,000 wHmb lHumers S@prubd ep. 1,000
Qumd  womb Qupdrnd g 5% Gsuwrard Béseyb.
fh. 300 BWE SL6T 68I5@E 2 (haumss Geuam(hb. 2019 WOTTE
31 BrGerm(® gl b earHiE@lu elwrumy whmib
@Ml BLL &/@& WHmb ppreverl @@L Hlaned @iy
swrflgsab.

Sekar took a lease of mine for a period of 20 years
Royalty in Rs. 1 per tonne subject to a minimum rent to
Rs. 12,000 p.a. The short workings are recoupable during
the first three years of the lease. The output were as
follows.

Year Output
2010 Nil

2011 4,000 Tonnes
2012 20,000 Tonnes
2013 40,000 Tonnes

Give the journal entries in the books of Sekar for a period
of four years.
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Caam eremueT @ &IB&SMES 20 UBLESIHDG GHS506
ThssTT, o fewshsras Ler @améaE . 1 eareb
GDOHSETE| GSSME JaT(H&E h. 12,000 erar Hlirewruib
QeiwiulLgl. Gon 2 Husdau G558 sTSSD (PSD
epen yerhisafled By Qg Qsmerer CouamOib 2 HuGS
el Gemeu(mmmI.

QU(BLLD 2 HuSS

2010 Qaea

2011 4,000 enser

2012 20,000 Legsar

2013 40,000 Lenser

Bren@ <ambha@Epssrar WsH@GNUCUL® udlesmear Gasm
Fhaafled HmHs.
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S-4585 Sub. Code

23BCC1C2

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
First Semester
Commerce with Computer Applications
PRINCIPLES OF MANAGEMENT
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Define the term ‘Management’.

Cuenamento erern GFTEIENa EUENTWIM).

2. What are the contributions of Peter F. Drucker?
S LT ereell. gr&sMer unseaflliyser eremer?

3. What is a budget?
UL QgL eTemmmed 6reoren ?

4. State the importance of planning.
S LBl eler (WPEELSFHeUSMSE FomBIGET.

5. List the merits of decentralization.

SHesTrl ureTsEsEsSSen S@EHdamer L igwiad[Hs.

6. Define Authority and responsibility.
SHaTrd LHHID QUIrMIKIEL U T



10.

11.

12.

State the importance of decision making.
WLeulriuger (P&HUSFHUSMSS Fomis.

What is a programmed decision making? Give example.

SrrBlLiul e wpyCei@liug ererear? 2 gryard Qam(.

List the advantages and disadvantages of negative
motivation.

adliroey  gramhsdler perewsar LOHMID  Sevseer
ULl igwed (hs.

What are the different styles of leadership?

sanawsglalsdler QeueiGoum Limenilser eremer?
Part B (5x5=25)
Answer all questions, choosing either (a) or (b).

(a) Describe the levels of business management.

cuentls Hliteunasdlen Hlanosamer el

Or

(b) Briefly explain about scientific management.

sifleflwe Coerareny LHN &HESLTE 6fleTéEsaLb.

(a) Write in brief about :
(1) Rules
(11) Objectives
F(HSSHIDTS 6T(LPSE|LD.
1)  Adser
1) @N&s&Camersar.
Or

(b) State the features of planning.
S0 elleir @jbsmsamars @GoHILILGLa|b.
9 S-4585




13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Differentiate between Centralization and
decentralization.

@LWILRESD LHMD  UFeUOTESD  Wdlweubenm
CaupuBssis.
Or

Explain the process of controlling.

s_HUU@SgID QEudupenew 656rsEs.

State the importance of decision making.
WyQauLLgeT (PSHLSHUSMSS Fnnis.
Or

List the factors involved in decision making process.

Wyaus@End Ceuduriigd odmer  sryaflsamer
ULl il (hs.

Discuss the functions of a leader.
@ semoeuflear Qeudur@amert LHH eleurd.
Or

Briefly explain the positive and negative
motivation.

Crirenm OHMID  THTD®D 2 BFHFN® —F(HSSLOTS
OG5,

Part C (83 x10=30)

Answer any three questions.

‘Management as an Art or Science’ — Discuss.

‘@m s Jdag delueors Coeraren — aleurd.

Write in detail about the elements of planning.

S8l é sgamisear udml allfleins erpgis.
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18.

19.

20.

Discuss the various techniques of controlling.

sL_(HUuBSgib udCGaim L Lkisemers LHH ebleurd).

Explain the different techniques of decision making.

WLeu&E@DL LOGeun HIL LBIGMET 66TdHEHs.

Discuss in detail about various leadership styles.

uoCGaum sevaeasgie uraflaamerts LpH ellfleurs elleurd).
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S-4586 Sub. Code

23BCCA1

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2024

Commerce with Computer Applications
Allied - INDIAN ECONOMIC DEVELOPMENT
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks
Part A (10 x 2 = 20)

Answer all questions.

1. What is Economic Growth?

QUTHETTSTT GUETTES] CTETMTE 6T6bTEN ?
2. What is Life Index?
uTpsms GNUIH eTeTmTE 6TemeT ?
3.  What is Potential Resources?
FTSEWLDTET GUETRIGET GTETDITE) GTETE ?
4, What do you mean by Demographic Transition?
D&ESETESTME MHDHLDd 6reny erererr C&medddiaer 2
5. What is Gross Domestic Product?
Qrss 2 @B (H 2 HUSSH eTemmmed cremme ?
6.  What is Economic Welfare?

QUTHETTSTT BHEGHT GTETDHTE) TG ?

7. What do you mean by Deficits Finance?
UHDTEEGmD Bl eremmmed eTeime ?



10.

11.

12.

13.

What is Indirect Tax?

EDPS Ul ETETmTEd GTeiTe ?

What is mean by Deflation?

LIGRTEUML_L_LD GT60TLI& 60 @urr@d‘r GTGOTEUT ?

What is Supply?

MBICWmE eremmméd eretmen ?
Part B (5x5=25)

Answer all the questions, choosing either (a) or (b).

(a) Explain the Concepts of Economic Growth towards

Country.
BT enL Crréslw Qummermgmy eueTiré&S udl e
S(HSSHISSMET 66T @5,

Or

(b) Explain about the Per Capita Income.
S&iBLT au@pomeard LHH ellerése, .
(a) Write Short notes about the Economic Development
for Country?
Brigen Qummermgmy euarids Lpdlu HAm GHOLsmer
CT(LPGIMISHET.
Or
(b) Explain the Characteristics of Developed Countries.
auemhg Brhsaten ApLiGwdLgsmer 6dlemds@msET.
(a) Brief about the Concepts of National Income.
Caélw eumrard uHML S(HSEISSET LHHIL &(HSSLD,
Or
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14.

15.

16.

17.

(b) Explain about the Sectorial Contribution towards
Gross Domestic Products.

Qurggs  2dmBIl@H  2HUSHSEREETRT  SIEDFTT
uiiseflliy ubhm edlerése]b.

(a) Explain the Importance of Budget.
UL Qe iq 6 (p&EELSFHIeUSMmS 6l6Td @ mISET.

Or

(b) Explain the about the Primary Finance for

Government.

Sremassdnatear (pseareno HlE updl elerssab,

(a) Explain the Types of Money-Broad on Money
Supply.

venr HBlCuUTEsSHer Lamsdlen euamasamer alleTdgeLb.

Or

(b) Explain the Causes of Price Index.

venr aFCuTsEsSld Lamrsdler cuamssamen allaTsse, L.
Part C (3 x 10 =30)

Answer any three questions.

Explain the Factors Affecting Economic Development in
Society.

Fepssdler QummeaTmsmy euaridflerws UMHEGD sTrentlsamern
ollaTé @ higear,

Describe the Classification of Nations Development

among Economically.

QuTmaTTSTY fHlwime BT &efler cuer&Sl udl e
auamsliLhssame elleufssab.
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18.

19.

20.

Briefly Explain about the Comparison of National Income
at Constant and Current Prices.

Blevowwrer  wombd  sHCGuTedsw  afeveude  GCsdlw
cumLTTSMS @UINHeug LHN SFH&SLTE 68l6TsEHs.
Explain the Types of Deficits in Public Finance.

Qurg) Hlgludler o drer LHPTEGMMUlT uMmaHMeT 6ll6TdE)s.

Elaborate the Theories of Money and its Supply.

uenrd  Wwomib  germ  slemer  udpdw  Cariur@psemer
Mfleunss gam.
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S-4588 Sub. Code

23BCCA3

B.Com.(CA) DEGREE EXAMINATION, NOVEMBER 2024

Commerce with Computer Application
Allied - BUSINESS COMMUNICATION

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

What is communication?

556U CSMLITL| eTETmTEd GTeiTey ?

What is Oral communication?

cumileulfl GgmLiTLy eremrmmed ereomeor ?

List out the two objectives of sales letter.

dpuener s sssler @ramb Crrésmaamen L iq e (HBiSET.

In which situations circular letters are issued?

THS Gphlamesafle &HDM &S &l SBIGET
cuprIs LU (H&lermer ?

What is Life insurance?

SU|eT SMTLILI([H eTeTHTEd GTETET ?

List out the stages of agent.

Wps6ur Blepesaner Ll ig U6l (HhIGET.



10.

11.

12.

Define Company Secretary.

Blnieuer Qswemereny euanFwm&se, L.

What is Minutes of report?

SiMsanauilen HILBILhigeT eTemmmed eTebren ?

Define Interview.

Criamanrena euen TuImI&EE&He L.

What is Digital profile?

el L 6b Swielleuid GTETmTed GTabren ?
Part B (5 x5=25)
Answer all questions choosing either (a) or (b).

(a) What are the characteristics of communication?

Qi sefler LGRTL|EET eTemer ?

Or

(b) Explain the qualities of a good business letter.
@R B auantls Hlgssslem @GeaThiGamen all6md:@s.

(a) Give a model of complaint letter to the seller about
shortage of washing machines and driers supplied
by him.

SNHLUETWTET(hé @ eUBISLILLL Foamel @) ubSrhisar
LHNID 2 efsdseflar udpTEGMD GNSH YsmiT
&g gSSen ISR cuPEIGa|D.

Or

(b) What are the different of a business letter?
cuentlss sigssder Coumumhsear wrenae ?
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13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

What are the difference between life and general
insurance?
Qe womb Qurg sTUELH&E erearar eflsHwmsnd
cNlené&s ?

Or

Explain the kinds of Agents.

paeurgafler euamssamer cfleT&EsaLb.

What are the classification of secretarial
correspondence?
BTy  QurgssmiLsder  Blapssl  Hlyedler

wrdlflepw ellerédsaLb.

Or

Give a specimen of Agenda of Annual General

Meeting.

Qewes slqs5s5Sl6m euansILm(p eTeTeT ?

How to preparing an effective resume?

Lwgeter elamantiiLSans eTeueumm swimfliiiig) ?

Or

How do you create and send digital Bio-data to the

reputed company at Bangalore?

Qumsepflad o der Lasptunn Hneiasdng gl L6
LGuUmr-CLLLmeney eTeleumm 2 (Hheumdhdl ienliLjeug) ?
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16.

17.

18.

19.

20.

Part C (3x10=30)

Answer any three questions.

Explain the essentials of effective communication.

Lwugater  gsaeued  CsmLiyssrar  oSSHumeudluinisemer
O (&5,

Prepare a circular letter for announcing price reduction of
your products to the customers.
UM SesWTaTTs@hd@ o m&sear  swurfliysaflar  aflenes

Gaplient ANNILSHETS @ &HDOSMS HqsEms SWTT
Qeliwe).

Draft a sample letter format for surrender of life
insurance policy to the manager.

U6 ESNIR (Y3 Qardrenseanw Guevmerflid
@uU®LLLUsSHSTar LIHM S4E algeIsms 2 (FeUTHEGsS.

Prepare an unsatisfactory report submitted to Chennai
Head office about the working condition of Trichy branch
and give your suggestions.

Smssl deveruflenr vanfl Blevew @dGs OCaamenar saeeno
S@leussdle FoTIbGsIULL  Sopudupn  Sidsamasamw
sumt Qauig o s ,CaTFmanEamar aULPkI&ELD.

Write a letter of application for the post of accounts
manager in MN Industries, Chennai.

MN @@ evl ffev, Gearwanies savse — Cwemert
LsNEETET TG &HiqSSMS 6T(LHSELD.
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S-4589 Sub. Code

23BCC1S1

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
First Semester
Commerce with Computer Applications
IT SKILLS FOR EMPLOYMENT
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Define modem.

Modem updl cuenrwm&se,Lb.

2. What is a router?

Router erasimmed ereirer ?

3. Write the shortcut key for cut, copy, paste operation.
cut, copy, paste Geweurighsrar GnsGul elasamwl
T(PSIS.

4, List out the types of alignment in MS word.

MS word @ o drer alignment cuenggener UL iqwadl(hHs.

5. How to sort data in worksheet?

worksheet @ > @rer data e GreueUTm)
auflensliLbhsgleus) ?



10.

11.

12.

List the different views in Powerpoint.

Powerpoint @e o erer LwCoum views saner LI 1qLIad(H\&.

How many types of page orientations are there in page
setups?

U&s Senlibe assmar cuamswnar Lss Crrs@blaneser
2 drerment ?

List any four online educational website.

gCosEID  BI6nE A6  H6ll  @EnERTUISETEISE6T
UL igwel (Hs.

Define virus.

VIrus euenJimI&EEHa]| L.

What is a spam?

Spam 6resTmmed GresTen ?

Part B (5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

Describe the FOSS.
FOSS upi cuergumissa]ib.

Or

Explain the difference between copyright and
copyleft.

uSuigfenws@hd, sriyflews@d o der Ceumuim e

clleTé&s.

Explain the usage of table in MSword.

MSword @ o erer oL eueneantudlenr LiLiGTLITL oL
cllené&s.

Or

9 S-4589




13.

14.

15.

16.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain in detail about adding headers and footers.
seOULSET wHmID SgsGiliysamers Camiiug b
NeTESa|D.
State the use of max and min functions of MS Excel.
MS Excel @ max wpmid min Gewdur@sefer
LweTumenl & @GO aib.

Or

Write the steps to print the worksheet.
Lanflgsmraner 58 (HeugsHEHTET LilqHENET 6T(LPSHaLD.

Explain the features of Swayam.
veuwSHernr Sbamismen 6laTsEs.
Or

Write the steps to use government portal.

Sjremis Curil el LwWeTUOSSHeUSDETET LilgHenaT
CT(LPGIMISET.
Write a note on hacking.
Hacking updlw @l erpgis.
Or

List and explain the malicious activities in trojan
horses.

U Grmegerr anmielledy 2 arer Smdlanps@d CFwdaamer
UL gl (B elemds@s.
Part C (3x10=30)

Answer any three questions.

Define open source and explain the advantages of open
sources.

open source euenFwmM&F, Open sources @6 HETENLOSHENET
eT&saLd.
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17.

18.

19.

20.

Explain about formatting a text in MSword.

MSword @é 2 egenw euigeianoliLig UbM efleTésea]Lb.
Sketch and explain the worksheet area in Excel.

Excel @ 2 ¢ter uenflgsmear u@gdeow cuanybg allerdsa]ib.
List and explain any five e-services.

gCaaibd 5 @ -Caamausaerts L iquiedl (b aNleTdse]|b.

Explain in detail about cyber safety.
@eenrw ungisTiy uHdl ellfleuns elleréseyb.
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S-4590 Sub. Code

23BCC1FC

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
First Semester
Commerce with Computer Application
FUNDAMENTALS OF OFFICE MANAGEMENT
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all the questions.

1. Who is an office manager?

S@Ieues Gemari wim?

2. What are the office activities?

SIS [HL_GIg EMEHSHET GTEITEN ?

3. What is office organization?

SIS SEIDLIL| GTEITDITE) 6TEHTET ?

4. What is delegation authority?
Sdlamsams LSTHg eflssd eremmmed eremen ?
5. What is record management?

udley CTamenld GraTmTed ETETET ?

6. What is horizontal filing?

fevL ol L s CaMILSET cTemmmed cTemer ?



10.

11.

12.

13.

What is communication?

QFTLITL| GTETMTE 6T6bTEN ?

What is report writing?

SDEMS CT(PFHIGUF] CTETDHTE) CTETET ?

What is form of letter?

(PSS GUlq D ETEITEN ?

What is form designing?

Qg GILD GUIQGIEHLDLIL| GTGITMITE) GTGITET ?

Part B (5 x 5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

Explain the Elements of office management.
SIS BliTeurssSlen gmmisamer allerd@s.
Or

What are basic functions of office? Explain.

SQeussdler Sgliuml  CHewdur@OseT  eTeren ?
cllené@a.

Explain the characteristics of office organization.
SQIeus Sewliber Splidudysmer 6dlerd@s.
Or

What are the Dbenefits of a office organization?
Explain.

Q@ BO®D HLILNGT BETENLOSET GTeTe ? 6l6TE &%,

Explain the purpose of records management.
udle| Hlireunssder Crraasams oflersEs.

Or

9 S-4590




14.

15.

16.

17.

18.

(b) Explain the essentials of a good filing system.
@M B Camilse pevpuier oisHumeudluinisamar
cllené@a.

(a) Explain the importance of internal communication.

2 &1 QarLiysefler pe&fuggeusamns oflersE:s.

Or

(b) Explain the guiding rules or reports.
SMsmaEsEnssTar alflsr (Hso eldasmer oflers@s.

(a) Explain the principles of forms design.

aulgeumigaflen allgaiabliber QsraTanasamer allemd@s.

Or

(b) What are the various methods of form designing?
Explain.

augel  aligeuabliber LOCem  (WPEDSET W6 ?

clleTé@a.
Part C (3x10=30)

Answer any three questions.

Briefly explain the tips for a paperless office and six
major barriers of automated office.

sTélslloons Qeussdharar 2 galils @GOlliLsd WwhHmib
STalB@ — oQeiossdler <pm  WPEFU  seLsmer
F(HSSHLTE 66TsHEHs.

Explain the types of organization.

SiMWUILNET eUaMEEEMET 68l 6Td @ BISET.

Discuss the principles and process of records
management.
udle| Hlireursgder Gamaransser wHmD CFudEan LDHMH
cleundlése,b.
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19.

20.

Explain the effective and selection of communication
system.

saeued Qariy epwlnder vweerer wHmb Csrene
ollaTsGs.
Discuss various types of report writing.

LOGeum cuanswTar HlEms er(pgise LD eleurdssab.
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S-4591 Sub. Code

23BCC2C1

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
Second Semester
Commerce with Computer Application
FINANCIAL ACCOUNTING - 11
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all the questions.

1. What is Hire purchase system?

QUTLan& CSTETPSED (LPEdD CTETMHTE 6T6HTEN ?

2. What is instalment system?

ST (LPEOMH GTEITMITED 6T6HTEHT ?

3. What is Branch stock account?

faner santé@ e Bruser erenar Yflpg Garerdldiger 2

4.  Write any four advantages of Departmental accounts?

glenpan samsdlwaeler GCsaE@ID HTETE HETENLOSEET 6T(LPFIS%.

5. H, M and N are partners sharing profits and losses in the
ratio of 4 : 3 : 2. M retires and the goodwill is valued at
Rs. 36,000. H and N decided to share the future profits
and losses in the ratio of 5 : 3. Pass journal entry for
goodwill.



10.

11.

H, M vpmidb N o dfluenes 4 : 3 : 2 ererm alldlgsHed @eomu
BULhigmerl USlihg O&smer@pd UBI@GSTITSET. 6Tl
Qumdlprt wHmD poGea@Tarsser wHOL er. 36,000. H
wHpb N erdlisme erud wHmID peyLmsamer 5 @ 3 ererm
Mgl Ldihg Qsmemer (pge| QFugernt. BHELWITSTE
usSilens menpenel ienriLiab.

What is Retirement of a partner?

@ gl Lreflullen euie| eTammmed creime ?

What is Dissolution of partnership?

Fa L L_TETENLD SHeNLIL| GTGTMITE) GT6aTeT ?

What is piecemeal distribution?

SeviSed aNHCuTsLd eTemmmed eTeime ?

What is Accounting standards?

SEMESE WD STHMQSET TETmTE cTeime ?

What is IFRS?

IFRS ereimmed erere ?
Part B (5x5=25)
Answer all questions, choosing either (a) or (b).
(a) G acquired a plant delivered on April 1, 2010 on the

following terms :

(1) Initial payment of Rs. 40,000 immediately;
and

(1) 4 half-yearly instalments of Rs 30,000 each
commencing September 30, 2010. Interest is
10% with yearly rests. What is the cash price?

9 S-4591




12.

(b)

(a)

guged 1, 2010 <ietm eUPRISLILLL @ <ePEE W
Qereumd el wpanpsaieruy G eurmdwg).

(1) 40,000 epumi oL arnquns Cequss CeuadrHlbd;
HMILD
(i) Qeurwbur 30, 2010 wsadseor ep. 30,000 cisb 4

SDTWITET(H SeUETSHET. AeT(H ¢uiaer 10%
QUL ly. Lredleney GTeme ?

Or

On April 1, 1988 Shyam lal purchased a plant on
hire-purchase system. According to the terms of the
agreement Rs. 80,000, was to be paid on the signing
of the contract. The balance was to be paid in four
annual instalments of Rs. 50,000 each plus interest.
The cash price of the plant was Rs. 2,80,000.
Interest chargeable on outstanding balance was
20% per annum. You are required to calculate
interest.

guged 1, 1988 Q@dedlumd méd @ e

QUTL M&ES QUITTRIGLD papudled AL
uuBsSHear  wemsafleruy  ep. 80,000, eULBSLD
&6 WSS TaTe, L6 Qeqiss Couar(pLd.

BHs0srensamw euliqgujear Gaigg seom en. 50,000
Qigld Bren@ yah selmensaiey Cegss Couam(hib.
g maouler Qrréseiee . 2,80,000.

Blemeuudler 2 arer CsreanssE wambhsE 20% el
UGOSSILLL G eIl lg Sardd(H\s.

What are the procedure for the preparation of
departmental accounts?

SODETT  Sams@Gsmer SUTALUSHSTET  BedL(PenD
GTGOTEHT ?

Or
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13.

(b)

A head office sends goods to its branch at 20% less
than the list price. Goods are sold to customers at
cost plus 100%. From the following particulars
ascertain the profit made at the head office and the
branch on wholesale basis.

Particulars Head office (Rs.) | Branch (Rs.)
Purchases 2,00,000 -
Goods sent to branch 80,000 -

(invoice price)

Sales

1,70,000 80,000

& SEEOELD S DICUSHLD S| B 60T aﬂ@»eﬂé;@
QumrmLseamer UL igwd® aflevaerw el 20% @Gaomeurs
Si@LILEDg. QuTBL_&eT QUG &EN G W TATITE (GThS (&)
100% Qgavafed apsLiLpSeTmer. Y etreu (HLd
Meurmisaiieh @ (BB SO  ARIUMSD  OHMID
dlenerudler Qorss aflpuemer gL wld Sl 55
OTUSMSE ST HlLIGLD.

&Sl euymhiger SO ADIEUDED | Flenar
(em.) (em.)
Qaméarpged 2,00,000
Slenars @ e UL 80,000 —
QuTBLs6T (cllameLiLiL 1quied)
eflpLener 1,70,000 | 80,000

(a)

A and B are sharing profits in the ratio of 4 : 3. C is
admitted into the business and new ratio among
ABCis 2:2: 3. Find out the sacrifice ratio.

A oo B gfluewes 4 @ 3 erearp &Sz
omugamsls udlibg Csradlamer. eaissda C
si@wdssiiu@dng womb ABC @é ydu aldsbd
2:2:3 gb. Hdurs Ndssmss samLHlueb.

Or
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(b) Goodwill is valued on the basis of 2 years purchase
of average profits of the preceding 3 years. The
profits of the previous three years were :

2004: Rs. 44,000; 2005 Rs. 56,000; 2006: Rs. 68,000.
Calculate :

(1) Average profit

(1) Value of goodwill.

wHwsw 3 Yarhseflar symefl orussler 2 eurmL

QameTpse SilgLiLenLudled 1560 (0l 60 &HoT GTT LD
LHUIALLILEDG.  WphHesw  eperm < aT[HSe e
GITLILD :

2004: em. 44,000; 2005 em. 56,000; 2006: em. 68,000.
SaESE(D)

1)  symefl eomubd

(i) moOCQUWIT LS.

(a) Explain the various methods of dissolution of
partnership.

Fal Lmamennenwl sameliugharer LuoGaum wpepmeEamar

cllené&s.

Or

(b) The balance sheet of X, Y and Z who were sharing
profits in the ratio of 3 : 1 : 1 stood as follows on
31-12-99. (i.e) date of dissolution.

Liabilities Rs. Assets Rs.
Sundry liabilities 1,05,000 Cash 1,000
X’s Capital 15,000 Bills receivable 4,000
Y’s Capital 10,000 Debtors 25,000

Stock 40,000
Plant 30,000
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Liabilities Rs. Assets Rs.

Goodwill 10,000
Z’s capital 20,000
1,30,000 1,30,000

The assets realized Rs. 79,750. Realisation expenses
amounted to Rs. 2,000. Prepare Realisation
Account.

3:1:1 erep aldlgsHed worusanss LS hg ClETem
X, Y opmid Z @er @iy Hlewe 31.12.99 ey
Gemeumomm @ mHSS. (DigTeug) semadssiiul L Gsgl.

QuryUysar €. Qenggisaer .
uei)CS@_@J @urrgul;lqa;m 1,05,000 Qurésid 1,000
X @an epasard 15,000 Weser dupdsssame 4,000
Y @an epasard 10,000 &Lermeflsar 25,000

sl ULy 40,000
S 30,000
BHAUWLIT 10,000
Z apasard 20,000
1,30,000 1,30,000

15.

(a)

(b)

Qersgissar  ep. 79,750, SLQL@UY  CQgweser

ep. 2,000, 2_anriised savTsEamss SWTMEsa|m.

Explain the role of Accounting standards.

sasSlwed srHlamagaflar Lkiamas allerd@s.

Or
What are the difference between Ind AS and IFRS?

Ind AS wpmib IFRS & ereren algwimgd allerds@s.
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16.

17.

Part C (3x10=30)

Answer any three questions.

On 1%t April, 2008, Bihar Collieries obtained a machine on
the hire purchase system, the total amount payable being
Rs. 2,50,000. Payment was to be made Rs. 50,000 down
and the balance in four annual instalments of Rs. 50,000
each. Interest charged was at the rate of 15 per cent. At
what value should the machine be capitalised?

guged 1, 2008 jern, s sredlwifev eur s Qameripge
Geopdd @n Qubfysosy Gubps, Guorsss dgres
5. 2,560,000 <@, ep. 50,000 EGpuyb, BHsCsTms ST
er. 50,000 &g preng parhS  Seuamanseflgb
QeguszsriuL. Couamhb. 15 #5615 aully au@GOSsIULLg).
@Quipdlyid erbg LG Quilugrs @) mes CouammHIb ?

Romit Ltd. Has a branch at Karnojora, where it sends
goods at cost plus 50%. From the following particulars
regarding the branch, Prepare necessary accounts in the
books of head office.

Stock at cost (1.04.2019) Bad debt Rs. 200

Rs. 20,000

Debtors (1.04.2019) Sales Return to branch

Rs. 18,000 Rs. 3000

Cash (1.04.2019) Rs. 5,000 Branch expenses paid by
H.O. Rs. 10,000

Goods sent to branch at Cash remitted to H.O.

[.P. Rs. 99,000 Rs. 80,000

Cash Sales Rs. 27,000 Cash (31.03.2020) Rs. 6000

Credit Sales Rs. 79,000 Stock at I.P. (31.03.2020)
Rs. 27,000

Normal Loss at cost Rs. Debtors (31.03.2020)

2000 Rs. 30,000

** 1.P. = Invoice Price.
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18.

Cpmo  ABQLL  srGarmCarrmeiled  om  Haarenwis
Qarempererg, Ami@E g 50% Oewelild CumpLsamer
SIS DG SHenerenwiL ummdlw (G 6treu(mLD
euriigefledl(pbgl, SMO®D  AGUOS  LiSSSHEISET 6D

Coamauwiman samd@samensd SWfléseab.

uiigelene (1.04.2019) aumyrésLa ep. 200

em. 20,000

s_amefsar (1.04.2019) Samers s allpumarn Smrub
em. 18,000 5. 3000

Quréaid (1.04.2019) ep. 5,000 HO. <wyéd cuprusiiu@in Saars
Qeaveyser m. 10,000

LP. @ 2 drer feneré s H.O.6@ uewd siguiiuiiut L
QUTHLSET S@ILILLILLL 5. 80,000
e. 99,000
uemralhueer ep. 27,000 Quréad (31.03.2020) . 6000
sLan eflpuenar ep. 79,000 IL.P. @& um (31.03.2020)
em. 27,000
sngmyam pay_ b 5. 2000 sLammaflser (31.03.2020)
em. 30,000

** [.P. = @etmoumitevellaney.

A, D and G are partners sharing profits and losses in the
ratio of 4 : 3 : 1 respectively. D retires, selling his share of
profit to A and G for Rs. 16,200, Rs. 7,200 being paid by
A and Rs. 9,000 being paid by G. The profit of the firm
after D’s retirement is Rs. 21,000. Distribute the above
profit between A and G, showing how you arrive at the

same.
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A, D wpmib G gdlwuemes wpepCu 4 : 3 : 1 ererm aldlssdled
@eru pLLkigmer USlihg GamereEphd Uki@GsTrisar. D
eue] Qupdprr, A womb G && satg ®OTU LBI®S .
16,200 $@ alpmi, em. 7,200 A <6 QeaussriLihdng wHHID
. 9,000 G g Qeausgdpg. D Qe gueas@sl Gng
Bineuersdler  emud  ep. 21,000 <op@n. Cuwle o emar
orusems A wombd G §g§ Qeruwle AEIGCuLTSssa,
BrigeT erliLig auhSDT&ET eramiansd sT_(Hdmg.

19. D, E and F are partners sharing 4 : 3 : 2 : 1. Their
position statement was as follows.
Liabilities Rs. Assets Rs.
Capitals : Cash at bank 4,500
D 90,000 | Machinery 1,32,000
E 60,000 | Stock 60,000
Sundry creditors | 1,20,000 | Debtors 1,20,000
Bank loan 60,000 | Capital account :
F 10,500
G 3,000
3,30,000 3,30,000

The firm is dissolved. All assets realised Rs. 2,46,000.
The sundry creditors and bank loan were paid
Rs. 1,77,000 in full satisfaction. The expenses of
dissolution are Rs. 1,800. G became insolvent and F paid
only Rs. 9,000. Prepare ledger accounts to close the books
of the firm.
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D, E, F vpmid G urugsnyiser 4 1 3 : 2 : 1 g udlibg
Qamerdlemment. ojeursaflen HlapeliLimh YemeuHmmI.

Quryrysar €. Qenggisaer €.

APROSET EETEEEET : curidl Qumésd 4,500
D 90,000 | Cwadien] 1,32,000

E 60,000 | V&S 60,000
u@Gaug Qurpiiusdr | 1 90,000 | sL-emeilser 1,20,000

ourtiflgesLair 60,000 | ap@sar sarsEse :

F 10,500

G 3,000
3,30,000 3,30,000

20.

Blmicuend SOOSSLILILL ). S MATSHF) QFTS8I5@HD
eh.  2,46,000. weoGeumy sLer  wHmD  eukISSSL 6T
i mudyer ep. 1,77,000 CeaussriulLg).
seollssrar Ogweser ep. 1,800, sidleuremeang wHmiD
eTssl1 em. 9,000 w_HCw CgausdHwg.

Bpoegdler  usgshswer  wpOeghE  Calgi
SETHGHMETS SWMTlEHe]LD.

Explain the role and development of accounting
standards in India.

@ndwureler samsHwd  grHleveseflear  Lki@E  LHMID
cueTESlanwt aNlemd@s.
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S-4592 Sub. Code

23BCC2C2

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2024.

Second Semester
Commerce with Computer Application
BUSINESS LAW
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Section A (10 x 2 =20)

Answer all questions.

1. What is consideration?

LfN&enar GraTmTed 6resme ?

2. What is meant by quid proquo?

Quid proquo eremmed erese ?

3.  What is meant by performance of a contract?
RUUbSS 6 QFWOSHDET CTETmTed GTeiTeT ?

4. Give two examples of contracts which need not be
performed.
BlenpGeuppliuL g @UiLbSHIGa6T QreaT®h 2 &Tyenkisamars
Q& mHrisar.

5.  What is the nature of surety’s liability?

sgmiSer GuiTmiLiSler eenio erebren ?



10.

11.

12.

What is the object of a contract of indemnity?
@it O @uubssHer GLTmeT eree ?
Who is bailee?

somiSeir er(hLILGuT Wi ?

What is bailment reward?

symiSeir Geu@od eremmmed eresa ?

What are the contingent goods?

sHQFwTar QUTHLSET 6Tebten ?

What are the future goods?

erdligme QUT(HLGET 6Tebren ?

Section B (5 x 5=25)
Answer all questions, choosing either (a) or (b).

(a) Explain the rule, “offer determines mode of
acceptance”.
“eild) FQIEMEL THMISCSTET(@HLD (PedDEL
SiroraflsSpg” ecrauans oflerd@s.
Or

(b) “Agreement without consideration 1is void.”
Comment.

“UiEeer QELLILLTE @UILBSD QFdorg” &HSE.
(a) Define damages as a remedy for breach of contract.
pUUBSSMS  Bmeusphsrar  Siours — Cesrisemar

QUM TWNI&HS.

Or
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13.

14.

15.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Distinguished between Liquidated damages and
penalty.

Srautiu@ssiiulL Gesmser  LOMID  SUTTSD
g Flweupern Ceumiihdss.

What is the object of a contract of indemnity?
@S (h @uiubssSHer CLIT(mHET eTerer ?
Or

What is the nature of surety’s liability?

somiesr QuTmL9er semento ereines ?

What are the rights and duties of a bailee?

Yevewr  erhliLicufler o Mepwaedm WHMD  SLEOLDEET
GTGOTEOT ?

Or

Distinguished between general lien and particular

lien.

Qumg = Mepw wHmID GANLELL 2 flevwdE @enLulld
Caumiudlmg.

What is meant by Unconditional appropriation of
goods?

F&EGHMaT FlLubSm@TUDHD &EED CTTDIed 6rebre ?

Or

What can one of the several joint owners sell the
goods?

U &l o flebwureriseid  e@meur  ererer
Qum@pLseaer illHa wpigujb ?
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16.

17.

18.

19.

20.

Section C (83x10=30)

Answer any three questions.

“All Contracts are agreements but all agreements are not
contracts”. Comment.

‘b @UILIBSBISEHD  QRUILIBSHIGET  QUETTD  AMDTSHS)
RUILIBSHIGEBHD QUILIBSBIGH DD . H(HSg).

“Impossibility of performance is, as a rule, not an excuse
for the non-performance of the contract”. Discuss.

“Qewddlver  grsHuwdng, @@ NHurs  QUUBSSHS
BlenpGeupwrasnH@ @ selrése b @dame — afleurs.

“A surety is undoubtedly and not unjustly an object of
some favor both at law and at equity.” Explain.

‘20 2gsransd aang sHGsesADGD GLblenl whmib
SQblumunrs  FLLD  WOmID  FOUGREG @b e
QFremelll QupSamiqw QUTmHET ee”. ellaTsEs.

Define contract of Bailment. What are its essential?
evewr @UILIBSS®S UMTWUMISGSED. G 6T HSHwimeudluib
GTGOTGOT ?

The right of stoppage in transit is an extension of the
right of lien”. Comment.

“Curs@eursde Bnsgeugsharar o faw eerug o Mano
> fenwuler Brgliungh” shsg).
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S-4593 Sub. Code

23BCCA4

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024

Commerce with Computer Application
Allied - BUSINESS ENVIRONMENT

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.
What is Business environment?
cuanila @GP GTETMHTEd Grabrenm ?
Write any two advantages of social environment?
Feps Gadler gCaend @TarT(H HETELOSEET 6T(LPFIS%.
What is political environment?
ST GHLPED GTETMHTE) 6TETET ?
How to show the role of government in business?
cuanilasled DiremhissHer Lnkianss ST (heugl eTiiuig ?
Define cultural environment.
FOMEST] EHLDEED @IEMTUIMI.
Write a note on social responsibility of business?

auanflagdlen sepsls QUL @GNS @ GOILIMU 6T(ps)s.



10.

11.

12.

What is GDP?

GDP eremrpmed ereen 2

What is growth rate population?

D&EHET CFTens eueTTES eSS T GTeiTe ?

List out any four features of technology.

Qamflomr usder CHeID HIeTE HLDSBISEMET
UL igwel (H&.

What is transfer of technology?

Qamfleomiru uflbrHoD eTeTmmed eremen ?

Part B (5 x 5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

What is the importance of business environment?
cauanilas @peadler (pasdluggield eremer ?
Or

Write a short note on political and Cultural
business environment?

STHwe wHDD sOTEFTT cuanllas @Gpd LDl e Sm
GO eT(PSIs.

What are the concepts of political environment?
ST GLPEIl6 H(HSSHIEHET eTemem ?
Or

What are the factors that affect the political
environment?

SATFWLD GLpene UMHEGD STrentsear wmenae ?
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Write down the impact of foreign cultural
environment?

QeueliBTL_(h HOTEFTT GHPET FTEESMS 6T(LPFIS.

Or

What are the various types of social organization?

LGN CUANSWITET FePd DEMLOLIL|SENET 6T(LHSIs%.

What are the objectives of fiscal deficit?
BED upprs@Gampuiler CHrEsnIgGeT eremer ?

Or

What are the objectives of macro-economic
parameters?

CusCrm-Qumrmertasmy  ereymssaier  Cprésmigser
GTGOTET ?

How technology impacts global environment?
Qsmeomr b  2esamelll G  ereueuTm)
urgl&S g ?

Or

What is the importance of technological
environment?

Qamemr L @Galer (p&ElLSSHieuD eTeme ?
Part C (3 x 10 =30)

Answer any three questions.

Discuss the nature of business environment.

cuenilasd @adler gerenwanwi LU elleurd.

Explain the role of government and business relationship
in India.

@pdwureler oiys LHMID cuamiles 2 pafler Lkisamer ollaTsEs.
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18.

19.

20.

Define Business environment. And also explain the
difference between social and cultural environment.

cuantls @G cuanruen CFlg Feps WHMID SOTFT] @GP
Caumubsgls.

Explain the role and importance of economic environment
in business.

cuantlsgdled Qumperrary  @Lpedler LIkI& HOILD
WsHwusgeusms 6lersEs.

Explain the determinants of technology environment.

QamflomIlu @G Siorafllitersamar ellemd@s.
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S-4594

Sub. Code

23BCCA5

B.Com.(CA) DEGREE EXAMINATION, NOVEMBER 2024

Commerce with Computer Application

Allied — INSURANCE AND RISK MANAGEMENT

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Section A

Answer all questions.

1. What is Insurance?

SMISEH TmTed 6TGTE ?
2. What is Hedging?
QamL gl eTemmmed GTeTeT ?

3. Define a contract life insurance.

R @UILBS Q6T STUNL L eua .

4. Write any Two features of life assurance.

et 2 gsranssdler  gCsaud  Qran

GI'Q:QQJBS
5. What are the perils of the sea?

SLET USHIHET GTGTET ?

6. What is Marine policy?

SLOFTT QSTETNS GTETMTED CTETE ?

7. Define risk.
SUS®S U Tuim].

(10 x 2 = 20)

O LDFBIGENET




10.

11.

12.

13.

What is meant by property risks?

QFTEHEH SUTUBISET GTETDTE ETETET ?

Write any two duties of IRDA.

.M. 1q.¢7.66m FCFHEILD @QTET(H HLENOSEMET 6T(LPFIS.

Define IRDA.

IRDAg cuanywipy.

Section B (5 x 5=25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

What are the general concepts of insurance?
ST g6 QUTGIGUTET HHSIHISSET WTee ?

Or
Explain the importance of insurance industry.
sTUNEL (RS gepuier WasHusgesams ellarése,b.
What are the features of life insurance contracts?
<Wd STUSE(H @UUbSEIsG6Tlen <behser eTemer ?

Or

Difference between individual and group policies.

SBUT LHMID &L DsTaranss@ns@ Qe Cw o érer
Coumiuim(.

What are the features of general insurance?

Qurg) SIS 1q 6T S DFRIGET GTETET ?

Or
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14.

15.

(b)

(a)

(b)

(a)

(b)

Write a note on
(1) marine insurance
(11) personal accident insurance and
(i11)) liability insurance
1) s smulsH
(i) seipur lusgs sTilSH WwHOHID
(i) Gummigs smilh updu GHrmu erpSab.
Write a note on
(1) corporate risk management and
(11) level of risk management.
1)  smrouGrl @uLir Goerarenn wHmd
() @ri Coerareaw B updlu  @Godleau
CT(LPGIS.
Or

What are the levels of risk management?

@it Guoerarend Hlena&er erebme ?

What are the scope of IRDA?
8.9 19.67.6%6tr GHTEHED 6TevTe ?
Or

Write a note on Insurance Policyholders’ protection
under IRDA.

£0. <9} . 1q...67. 6% b Epaminir @ umedl &g myia el cor
umgasTiL GNss @Gl er(ps)s.
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16.

17.

18.

19.

20.

Section C (83x10=30)
Answer any three questions.

Define insurance. Explain the types of insurance.

sTUEL L euadruUnIE&aDd. STUSE(H cuassamer 6ileréEs.

Define life Insurance. Examine the different types of life
insurance plans.

Quer  sTUSLL  cuedrupdseyd. udGeun euamSWTET
et &S (H S Lhismer 6fleTéEs.

Explain the advantages and disadvantages of general
insurance.

Qumrg) &TUIS g6 BETESET WHMID SMOSEMET 66T EHs.

Explain the different classes of General insurance.

Qurgl sl iger Caum u@GLiysamar clleTé@s.

Explain the functions of IRDA.
.91 1q..67. 66 QFweoLmhsamen 6larsEs.
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S-4595 Sub. Code

23BCCA6

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2024.

Commerce with Computer Application

Allied - BUSINESS MATHEMATICS AND STATISTICS

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 = 20)

Answer all questions.

What is Ratio?

Mg eremmmed ereser ?

What is Indices?

SO OSET eraTnmed Grebren ?

What is Discount?

SET@BLIG GTETMTED GTEITE ?

What is Compound interest?

Gl () @llq GTETMITE) GTEIE ?

What is Geometric Progressions?
cuigellwe WerCaTHmEIGET GTemmmed 6TeTeT ?

What is Harmonic Mean?

anmiGunails TESD eTemer ?



10.

11.

What is Rank Correlation?

sreuflens QamLirLy eremmmed eremmen ?

What is Regression Lines?

Yererran 6| Cam(H&6T eremmed cTere ?

What is Relative Index Number?

2 peflert @GO () eTelr eTemmmed GTeime ?

What is Time Series?

Crrs QFTLIT GTETmTE 6T6bTen ?
Part B (5x5=25)
Answer all questions, choosing either (a) or (b).

(a) Explain the steps involved in ratio analysis.

&gl LEuumieid 2 dmar Lighlavasamer alemd@s.

Or
(b) Calculate Gross Profit ratio from the Following:

Sales Rs. 10,00,000, Sales Returns Rs. 1,00,000,
Opening Stock Rs. 2,00,000, Purchases Rs. 6,00,000,
Purchases Returns Rs. 1,50,000, Closing Stock
Rs. 65,000.

Qereumeuareupdladl(Bhg Crss @eoru  eldssmss
SETEHS (P MBI SHET.

fpuewer ep.  10,00,000, e&lpUemerT  EIHLOTETD
gh.  1,00,000, Q@rL&st U@ ep. 2,00,000,
QsmaTpged ep.  6,00,000, CETETPSHD  EUHLLTETD

eh. 1,50,000, @mIl LItk ep. 65,000.
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12. (a)

(b)

13. (a)

Explain the merits and demerits of geometric
progressions.

algelud  erGarhprigeiler  HeranosET
Savsemar ollerd@s.

OHMmILD

Or
Explain the types of annuity application.

umLTHST edlamanTiiLgSlen euamasamer allemdse] .

Find out the Geometric Mean:

Yield of Wheat

7.5-10.5 | 10.5-13.5 | 13.5-16.5 | 16.5-19.5

No. of farms 5 9 19 23

Yield of Wheat

19.5-22.5 | 22.5-25.5 | 25.5-28.5

No. of farms 7 4 1

cuigefwied Frmeflenwsd SerLHlueyLb.

Camglanio D& @6

7.5-10.5 | 10.5-13.5 | 13.5-16.5 | 16.5-19.5

LI 6807 0 60T & 61T 65T 6T 68oT 5 9 19 23

Camglanio D@6

19.5-22.5 | 22.5-25.5 | 25.5-28.5

LI GB0T 60 GO0T & 61T 65T 6T 60T 7 4 1

(b)

14. (a)

Or

Find out the Median from the following:
57 | 58|61 |42 |38 |65| 72| 66

Gereumeuameupdledl(mhbg srmaflepwsd serLdlweld.
57|58 |61 42|38 |65| 72|66

Calculate co-efficient of correlation by Pearson’s
method between the density of population and
death rate.

Cities A B C D E F

Density 200 | 500 | 400 | 700 | 600 | 300

Death rate | 10 | 16 | 14 | 20 | 17 | 13
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w&EeT Csmens LTEHEGD @iy aldss5HnHEmh
@ae Cu  Gurger  pepuller  eped  QFmLTL
SINEEMHE HeTEHS (D BISET.

BHIEIGET A|B|C|D|E]|F

SIS 200 | 500 | 400 | 700 | 600 | 300

Gouy efldlsnd | 10 | 16 | 14 | 20 | 17 | 13
Or

(b) From the following table, calculate the co-efficient
of correlation by Karl Pearson’s methods.

X: 6 2 10 4 8
Y: 9 11 ? 8 7
Arithmetic mean of X and Y series are 6 and 8
respectively.
Gemeu(md L euenantuiled @mbg, & wirse e
(P@DEET ppeOd CAFTLITL (GEMESMSH SenTéd (HBISET.
X: 6 2 10 4 8

Y: 9 11 ? 8 7

Xoppd Y Qarirsefler eranr sanfls grrefl wpenpGul
6 OHMID 8 Y,&GHLD.

15. (a)
Commodity | Price in 2005 | Price in 2006
A 90 95
B 40 60
C 90 110
D 30 35

Construct an index Number for 2006 talking 2005
as Base.
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sflurumy 876 | 2005 Qe edeve | 2006 @ efleva
A 90 95
B 40 60
C 90 110
D 30 35

2005 & SgliueLwrs Qaremh 2006 @er @GHuiL(H

CTGITEET 2_(HeUT&HHELD.

Or
(b) Calculate Index Number of Price for 2007 on the
basis of 2006 from the data given below.
Commodity | Weight | Price per unit 2006 | Price per unit 2007
A 40 16.00 20.00
B 25 40.00 60.00
C 5 0.50 0.50
D 20 5.12 6.25
E 10 2.00 1.50

&G Qarhssiu perer sreyseflad(mhg 2006 @er

SiglineLuie 2007  @er  clleweuder @Ol H
CTERTEN TS &ETEHS L6 |LD.
Qwruny s7é6@ | et | @@ welll | @@ wefll
clenew 2006 | aflenew 2007
A 40 16.00 20.00
B 25 40.00 60.00
C 5 0.50 0.50
D 20 5.12 6.25
E 10 2.00 1.50
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16.

Part C (3x10=30)

Answer any three questions.

P Ltd. sells goods on cash as well as on credit basis.
The following information is extracted from their books of
account from 1993:

Total sales Rs. 1,00,000

Cash Sales (include in the above) Rs. 20,000

Sales Returns Rs 7,000

Total Debtors for sales as on 3 1-12-1993 Rs. 9,000
Bills receivables as on 31-12-1993 Rs. 2,000
Provision for doubtful debts Rs. 1,000

Trade creditors as on 31-12-1993 Rs. 10,000

You are required to calculate

(a) Debtors/Receivables Turnover Ratio,

(b) Average Collection period.

P Ltd Qpméswrsebd sLer Sglibeluligid Cummrsener
Mp&mgl. Yereumd SaeUwsET 1993 @léd @) (HbHg elisaefler
saTEGL LSSsnisanal(phg 9Ns0sHEsIULLg).

Qwrss elihuear ap.1,00,000
uanr aflpuener (CCe 2 emareney o L LiL) ¢F. 20,000
clhuear eu(HLIETD eF. 7,000

31-12-1993  erm  elpueer  CQEelwlinll Gwbrss
sLameflger e5.9,000

31-12-1993 Ijearm QUDSS5s GevgeT em. 2,000
spCoa5HDGMNL SLes@pssTar &isS®H op. 1,000

31-12-1993 SieTml QUTSHS &L_6oT @ILDTBIG LG TS ET
¢h. 10,000

Braser sasSl Couam(hib.
(1) sLameflger/cure|ser ellhm (psd ldsid

(<) grmafl au@e smeib.
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17. The following table gives the weight of 31 persons in
sample survey. Calculate geometric mean.
Weights (Lbs) | 130 | 135 | 140 | 145 | 146 | 148 | 149 | 150

6 3 5 2 1

No. of persons | 3 4 6

wrdlfl seamstsGube 31 purseflear erenLeow GeTemHd
2IL_L_GemamT cuPBIGEDSI. Gulg el wieh grrefeowd

&ET& S () bl HET.
GTEn L&l 130 | 135 | 140 | 145 | 146 | 148 | 149 | 150
2 1

pUTGelen eramenilsans 3 4 6 6 3 5

18. Find lower Quartile, Median, upper quartile, Decile

seven, sixtieth percentile for the following frequency

distribution.
Wages (Rs.) 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
11 21 43 32 9

No. of persons 1 3
Getreupd o TCleuer Leuaus@ S sreorar®, @ flae,
Cue  srora@r®, GL&d, g, SMUSTD FSGGLD
S FweudHednd HerLHwieyLD.

sargluid (¢m) 10-20 | 20-30 | 30-40 | 40-50
suisefler craanilsans 1 3 11 21
sarglwid (¢m) 50-60 | 60-70 | 70-80
puUigeller eramaniiEans | 43 39 9

19. Find Karl pearson’s coefficient of correlation from the

following data:
Wages 100 | 101
Cost of living | 98 | 99 | 99 | 97

Gemeumd  sre|safled(mhgl
GIEEMSE SHeHTLHweLd.
dncflsar 100 | 101 | 102 | 102 | 100 | 99 | 97 | 98 | 96 | 95
97 | 95 |92 95|94 |90 | 91

102 | 102 | 100 | 99 | 97 | 98 | 96 | 95
95 | 9295|194 |90 | 91

srred  Gwrgafler  Qgmiy

aumpsans Qswey | 98 99 99
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20.

From the data given below calculate seasonal indices.

Quarter Years
1984 | 1985 | 1986 | 1987 | 1988
I 40 42 41 45 44
1T 35 37 35 36 38
111 38 39 38 36 38
I\Y 40 38 40 41 42
&G Qar@ssiiul(eaer  sre|salelmhs) LI(HeUSETE
GO smars sanréd (b niser.
HTeOITesoT (h) <2, 6T (D & 6T
1984 | 1985 | 1986 | 1987 | 1988
I 40 42 41 45 44
II 35 37 35 36 38
111 38 39 38 36 38
I\Y 40 38 40 41 42
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S-4596 Sub. Code

23BCCA7

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
Commerce with Computer Application
Allied — E-COMMERCE
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.
1.  Define E-Commerce.
e cuanflasans euenyuimi.
2. What are the advantage of E-Commerce?
e cueantleSSl6m BHETEnLOSET CTEITET ?
3. Whatis B2C?
B2C eranimmed erere ?
4, What is E-retailing?
e Slbvanm edlHLEHET GTETHTE) GTEsET 2
5. What is internet?

@ EERTWILD GTETMTE) GTEITEN ?



10.

11.

12.

What is Consumer behavior in E-Commerce?
e euanflasHed misTCounit BLSang eremen ?
What is EDI?

EDI eremmmed erevre 2

What is Virus?

GMHEUTEV GTETMHITED GTEITEIT ?

What is Ethics?

QBDPEDEHET GTETMHTED TG ?

What is an ethical issue in E-Commerce?

e cuanflasHlen e Qpdpenn fésa eTammTe eTeime ?

Part B (b x5=25)

Answer all questions, choosing either (a) or (b).

(a) Explain what are the main activities
E-Commerce.

Wer euafllasdenr  pasdw  Cewdur@ser  eremen

creLIeng 6l emds@s.
Or

(b) Explain the limitations of E-Commerce.

e cuanilasHlen aurbLsamer ollaTs@s.

(a) Explain the business tailing and traditional

training.

cuentls engwed wHmID urFbufu Luulhlew eblarsEs.

Or
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13.

14.

15.

16.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the features of E-retailing.
Wler Slevevenm ellHLianaruilen jbamiGameT 66T Es.
Explain the Basic marketing concepts.
SllgliLienL &‘L'F,emg,uu@gg,d) H(HSGIGMET @9]6178;@'.5.
Or
What is Marketing Strategy? Explain.
FHSLILOSSD 2 55 TeTmTe eTemen ? aNl6md@s.
Explain the EDI technologies.
EDI Qgrfléom Likisamer 6Sl6rs@s.
Or
Explain the EDI standards.
EDI grflencsener cflers@s.

Explain the social issues in E-Commerce.

Wer  euanflasdlenr  odter  sepst  GpsSlenansaner
NeTESa|D.

Or

Explain the model for organizing the issues.

LBl eor cuemtl &g Sl em o _aiTer S&sdaEemar
@UmsmblUsSHaTar wrdflaw 6dlerdsEs.

Part C (3x10=30)

Answer any three questions.

Briefly explain the various Functions of E-Commerce.

Wer  euanflasHer LOCoum CeudUTOEMET  HHEHDOTSE
NeT&saLd.

3 S-4596




17.

18.

19.

20.

Discuss the business models in emerging E-Commerce
areas.

cuemhgl eI(pd  Wler  euantlssdler  LGdHsaild  euentls
wréfasemerts LHH eleurdsse,b.
Explain the various categories of E-services.

e Caamausaflenr LOGoun cuamssmer alleTs@Hs.

What are the benefits of EDT? Explain.

EDI @eéir pemenioaer eremen ? allemd@s.

Briefly explain the principles privacy and information in
candidate ethical.

Caulumert  Gpdlpenpuiled  2arer  saflyflepn  wHmID
SEHEUDSEET FH(H&SSHLDTE 6hleTHSe|LD.
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S-4599 Sub. Code

23BCC2S1

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2024

Second Semester
Commerce with Computer Application
SMALL BUSINESS MANAGEMENT
(CBCS - 2023 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all the questions.

1. What is small scale enterprise?
fm Qamdled eremmmed crever ?
2. What is funding agencies?

BlEwefiiLy Hlmeueamhiser eremmmed ereime ?

3. What is small scale enterprises policy?

fn euenllad QSTETans GTammTEd GTeTe ?

4.  What is SIDBI?

SIDBI erérmmeéd erebren 2

5. What do you mean by market assessment?

gheng LI eremmmed erebren ?

6. List out the methods of generating ideas.

Cuirgenanaamer 2 (HeUT&@GWh (PaDSM6T LiLlq L6 (HIBISET.



10.

11.

12.

What is operating management issues?

Quwss Cuoeraren FESOEET GTETMTE 6TETET ?

What are financial management issues?

BlE Cuoenamenn HEH0s6m eremer ?

What do you mean by bankruptcy?

Seumdd eTemISEm THSLD T ?

Define family enterprise.

GSHbU Bneuarseams euen I mi&Hs.

Part B (5 x 5=25)

Answer all the questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

Discuss the competitive advantages of small scale
enterprises over large scale.

Svlu erelloorer Hlmeuarmbsailer perennsamars LiHMH
clleumdlésa]Lb.

Or

Compare the small scale industries and large scale
industries.

Al serelleorear  Qsmfdsdr  wHmb  Quflw
sjerefleonar Ggmasamer eribhs.

Give a explanatory note on entrepreneurial decision
making process.

QamfleparerGeum W1qCeu[H&E@LD Qewdpenm
ubdlw elleréss GDILamL cULPEIGHE|LD.

Or

Explain the skills required to be an successful
entrepreneur.

Qeupdlasywrer  CsmpldwpaarCeanyres  @mUUSDHEGS

Coameuwimar Smenasaner allerdsa] .
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13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

State the different types of financing sources to
start a new small scale enterprises.

yHw Adlu erellorar  Hpeuarkhsmers OFTLmis
uGeum cuanswiner HlH @psrrhismars @GDILLGLa|b.

Or
Explain how you identify potential business
opportunities for development.

aueriEdlGamen gnsdwbrer cuenlls eurlilisemer Hrisar
GTGUGUM) S L_WITGTLD ST E TG ET TETLIGNS
Nl 6md (&) mi g

Discuss the advantages and disadvantages of
venture capital.

saflar epsarsdler perannsem LHNID Sawsdr LD
clleurdlssab.

Or
Narrate the different types of debt securities and its
importance.
LOCaum euemswTar SLer LSSHTHRISET WLHMID g6

WwsHwsglasams alleuflsse,b.

Discuss the positive and negative sides of family
business.

Ghbu  eaamissdler Crioennm OMID  erdTbenm
LssmIsameTl UHMl edleumdléselb.

Or

Discuss the opportunities and threats that free the
entrepreneur in the stabilization phase.
QsmpowpeaarGeaireny 2 mHUUOSSHD  SLLSSleD
Mpefl&@d  eUTULILGET LOHNID HEFGFMSSOHMETL
ubml elleurdlésayb.
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16.

17.

18.

19.

20.

Part C (3x10=30)

Answer any three questions.

Discuss the role of entrepreneurship is a key driver of
economic growth.

QuTmaTTS Ty euaTEs ud 6o Wp&Hw 2 BSOS
QzmepenarGeurier Lniens LHH aleurdlsseab.

Explain the supporting institutions functions to the small
scale enterprises.
AP ereileorer Hlmeuamhisensd geavanr Hlneueamigafler

Qewdurhaamer aleTédsa|.

Enumerate the points you would keep in mind while
formatting a business plan.

aamfilss HiLsms ageumws@nd Cumrg Bhsdr weardd
Qamarer Geuanriqw LiaTaflganers seanméd (hmiger.

Elaborate on the numerous financial management issues
that small businesses encounter and how they may
overcome it.

Ay auailsmsdr eadiCarearennd u HF  Coeorarenn
SEsDEET LHMID MG DeUTEET eTeueumm FwomafliLg)
crarLeng ellfleuns elleuféseyLb.

Comment upon the need for performance evaluation and
control for a small scale entrepreneur.

) Slw Sjerellevmer Qs medpenerGeum(msmen

Qawddmer wHIEH wHnD sUEUuTiger Csamer GNss
&(hsg Ggflelssab.

4 S-4599




S-4600 Sub. Code

23BCC2S2

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024

Second Semester
Commerce with Computer Application
EMPLOYABILITY SKILLS

(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

Define hard skill.

SlqQTOTET FHDEHLDEW U TLNISESHE|LD.

What is employability skill?

CeuamaveumuiiliLy Smerr eremmmed cTevme ?
What are embedded skills?

2 ' QUrEsIuLl L SmeTser crammmed eTeme ?
What is job environment skills?

Ceuane @Lped Smem eremmmed eremen ?

What is written communication?

er(psLILIL L S&5EUDGISTLITL]| GTETDTE 6T6HTen ?

What is planning?

SO G eretmmed eresrer ?



10.

11.

12.

What is solicited application letter?

Camriul L ellemeniiug &lqHbd GTETmTE) GTEITET ?

Write the meaning of resume.

senefleurd ellemanT LSS e ATESEMS 6T(LPSIMBISHET.

List out the different types of arithmetic reasoning.

e Geum) QUGS cTeRTEEtlS UGSSMe|semar
ULl igwedleum?

The total of the ages of Amar, Akbar and Anthony is 80
years. What was the total of their ages three years ago?

Sjor, AT, bCsTantl yHCurfler CQwrss euwg 80
S ETHHET. &M AT (H&@EHEE, (e Aeuisaier Clbrss
GUWIG)| GTGOTEOT ?

Part B (5x5=25)

Answer all questions, choosing either (a) or (b).

(a) Explain how to you assess your own employability
skills level.

o msatlen  Owerdpensar  CeouameeumiiliL — eTanel
eIy G Heugl eraTUams 6Ml6md @, higeT.
Or
(b) Discuss various kinds of soft skills.
LOCaum euemswrear Gwerewwner SHpersamerls LM
clleumdlssa]Lb.
(a) Describe the components of task management skills.

uanfl Guoararen FHpersefien mpaamer aleuflssea, .

Or
(b) The “task management improve your job
performance” — Discuss.

“benfl  flfeursd o miger  Ceuevew  GeweSmener
Cobupsgdpg” - eurdlésayb.
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13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

How are communication skills interlinked with
efficient functioning of an organization? Discuss.

em BHneasdar  Spewwrer  Cewdum (HLer
Qg mLirLy Smenaar, eTeUGTM) eerGorelLmerm)
@eanssliLl(Hetarar? elleurdlsse,Lb.

Or
What 1s initiative? State the importance of
Initiative.
erpwhé GTEITMITED GTGITGYT ? erpw b uller
PSEWSFIUSMSE T M) MhIGHET.

Distinguish between curriculum vitae and resume.

Cv HMILD serelleuid cllarenTiiLSamns
Caumu(hSgIBIGET.

Or
State characteristics of good resume.
TN Semaflerid ol e emTLI LIS Sl 6 LI GBI L ST
clleumdlésaLb.

The sum of two numbers is 25 and their difference
1s 13. Find their product.

@ran(® cramsafler sl (HsCsTans 25 WwHmID ieubider
Caumiuim® 13. Si6uhdlesr QupsGSLsTNS
ST PlweLd.

Or

In an election, candidate A got 75% of the total valid
votes. If 15% of the total votes were declared invalid
and the total numbers of votes is 5,60,000, find the
number of valid vote polled in favor of candidate.

@@ GCsigeler, A Ceulumert Qrss Ced)LIguITED
urs@seted 75% Qupprr. Cwrss euns@sefler 15%
Qedeorg erar  PleilGsli’ (B QLTSS UTEHEGSET
5,60,000 <& @HHSTD, GCeul LImem(hé@E USTeUTE
Ldleumer QFaILIIg WITE LD cumd @ saflem
TETanilGemEam WS ST MNwe.
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16.

17.

18.

19.

20.

Part C (3x10=30)

Answer any three questions.

Briefly discuss the some of the key employability skills.

foo w&Hwu CeuemeeuriiliLy Spensaers LHO &HHESEONS
clleurdlssayb.

Briefly explain the dimensions of competency with
suitable examples.

s@SWer Lfbrauismer CLTHSSLOTET D & TiyEwT s (@ L6
F(HESLNG HleTdaeD.

Enumerate the steps in the process of problem solving.
fsgmas  Sie@b  CQewudumgd &6 Ligsmers
&STES) (h MBI SET.

Prepare resume for the post of Assistant Manager in a
MN Company, Mumbai with a covering letter.

wpweuuier oarer g MN flnearsdled 2 g69 Guoemer
ugseilsaErer elamariiusams (PELIL &igsd Swmm Cetwueyb.

In a School 150 students passed X Standard
Examination. 95 students applied for Group I and 82
students applied for Group II in the Higher Secondary
course. If 20 students applied neither of the two, how
many students applied for both groups?

e udraflldéd 150 wrameurser X s7s5 Gl Cgiras
Quoppert. Guoafleners wrtbfelled @eml 1 &@ 95
LDITGT 6L T8 (@M LD, &L 11 &S 82 LD ITGUT 6L 185 (G LD
cllarenTidSgleTerani. 20 OTETEUTHET @ Temiqd eTHH @D
Mamanrlifssellovme eTammrd, @reanh (PSS EHHED
TSSEE LOTETEUTEHET 6l evorenrl IS s e ?
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024
Third Semester
Commerce with Computer Application
BUSINESS MATHEMATICS AND STATISTICS
(CBCS - 2023 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. The ratio of boys to girls in a class is 7:3. If there are
21 boys, how many girls are there?
@@ a@Uld fnelrseEns@h SnblsEpsEh 2 drer aldsbd
7:3 . dnetsar 21 Cur @@mpsTed, AnOsET Trdgamer
Cuir @ msHmrirger?

»o

Write (16) as a power of (2).
(16) & (2) o1 TS 6T(PFIS.

3. Find the 10t term of the arithmetic progression: 3, 7, 11,
15, ....

wryé &ré Qgrirm (Arithmetic Progression — AP) 3, 7, 11,
15, .... ererruger 10 eugl LGSlanw sarrH9g&s.

4. Calculate the total amount on an investment of $800 at
an annual compound interest rate of 3% after 2 years.
Assume the interest is compounded annually.

em; $800 @psdflyghe 3% pemgpsrer sgais aigsdld
2 yarhsEpsE@L WAnE@ Cwrsss Gsrasamu sarss (HmsErT.
el ly aUBLSSHDEG @mperm L Kb CarssliLbhSng.



10.

11.

Find the arithmetic mean of the following numbers :
4,17, 9.

emeu(pld eramaatien grmef wdlienu sreawrs : 4, 7, 9.
What is the formula to find out the difference in GP?
GP Qe Coupum el & serr_dujibd @GS H b eretrer ?

What is correlation?

QETLITL| GTETMTE 6T6bTEN ?
What is the equation Y on X?

X @ Y sgrer gwearum( erere ?

What is Index Number?

SO (B eTaRT CTETDmmTed Grabrenm ?

What is Trend Analysis?

CUITEE, LGUILMIIG] TETDTE T ?
Part B (5x5=25)
Answer all questions choosing either (a) or (b).
(a) Simplify: (a5 -af -b_4)+ (a_2 b2 -04).
&(HEGHS: (a5 -a® ~b_4)+ (a_z b7 ~c4).
Or
5x°  Tx’

+—.
2x?  2x?

(b) Simplify:

5x°  Tx’

S(HEB&HSH: — + .
G*6 2x?  2x*
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12.

13.

(a)

(b)

(a)

(b)

The 4th term of an arithmetic progression is 10, and
the 12t term is 22. Find the sum of the first

20 terms.
e safle (parGammmsdler (Arithmetic Progression - AP)

4151 uEd 10, bHmIDd 12618 LEGSH 22 YEb. WPSD
20 udlaafler sl Hs sTansamw sem bWy &s.

Or

A sum of money doubles in 10 years at a simple

interest rate. What is the annual interest rate?

@m Gsmens ved 10 yarhselld ereflu el

igsHey QBLLMRGTS W@, YaTHCSTYD 6ul iy
GIsLD Grebren ?

A class of 6 students has the following average
marks: 75, 80, 65, 90, 85, 70. Calculate the mean

mark of the students.

6 wrereugefler W LICLG@TEET GemeuHLOTN 2 ETeTer:
75, 80, 65, 90, 85, wHmib 70 wrewTeuTHefler FyTFl

EHICLGTHEMET SHenTéd (hBISET.

Or

The following are the values of investments in
thousands of dollars: 50, 200, 800. Find the

geometric mean of these investments.
etreu (pLIGGL U9 7656w E & meuT Lmeorgerfled

wseShisaiar wdiiyser: 50, 200, wHmd 800 ererm
wseshsaflenr Goudlulwed syreMapw seirHs.
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14. (a)

(b)

Find Karl Peason’s co-efficient of correlation
between advertisement cost and sales.

Adv.Cost: 5 7 3 1 9
Sales : 8 9 5 4 9

s wrgeafler edleribLirs CleweysE@bd 6lbHLMmems @D
@ wlemear QETLir] serL_Hluie|b.

afNerouy Qeewey: 5 7 3 1 9

Npuenar : 8 9 5 4 9

Or

Calculate co-efficient of correlation from the
following:

X: 9 8 5 1 4
Y: 120 130 90 150 160

Gerreumeuamalddledlmibgl  Cam i sefler @anenr-Snenens
SeET&SE L6 Lb:

X: 9 8 5 1 4
Y: 120 130 90 150 160

15. (a) From the following information, construct the index

number for the year 2005, taking 2004 as the basis.

Goods Price in 2004 (Rs.) Price in 2005 (Rs.)

Ragi 95 90
Oil 105 105
Dhal 35 20
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16.

17.

18.

Gereumd  saeuadladl(mbg, 2004 SgliLeLwWnss
Qarar@® 2005 b yearghHarar GHuIL(H  eremenemt
2 (IHeUM&SHE|LD.

QUIGBLSET 2004 G efleva (m.) 2005 @b aflevad (5.)

g3 95 90

676807 ol GmoT L 105 105

LI(BLIL 35 20
Or

(b) What are the components of Time Series?

Crrs Qamiler samser wmened ?
Part C (83x10=30)

Answer any three questions.

81 8 128
Solve that log— —log—+log——=1og 3.
v 816 89" By %

81 8 128
I b: log——log—+log——=1og3.
shssay: log o ~log+logs o =log

A sum of Rs. 5,000 i1s due in 2 years. The bank charges a
bankers’ discount rate of 8% per annum. Calculate True
discount.

e 5. 5,000 Agrens 2 Y eamhsefler s CouamhHb. cumnidl
8% <yarh eully eigsSHed eumdl SET@EHLIG QUPHRIGHDS.
2 @TENLD GUMBIS SET(ERLIG NI HETdE (HIBIGET.

The following are the test scores of 6 students: 78, 82, 85,
90, 88, 92. Find the standard deviation of these scores.

78, 82, 85, 90, 88, whmib 92 ey 6 wrawreuTseflem
Cargenenr L&) 16 Liagoras el 6ot Hlenay ufrearsens
STl BISET.
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19. From the following data, obtain regression equation of

XonY.
Percentage Capacity : 60 20 100 40 80
Cost (Rs.) : 900 1,100 500 800 700

Qemeumd  sreysefledippbg, Y @@ X @er eraranl o]

gwetum’ e U QuDe|b.
Fgeis Hmer ;60 20 100 40 80
Qeeay (em.) : 900 1,100 500 800 700

20. Calculate 3 yearly moving averages of the production
figures given below.

Year : 1995 1996 1997 1998 1999 2000 2001

Production 224 213 202 215 222 244 238
(in tones) :

&Cp  Qar@ssuiuc(erer 2 pusd  ydraflelleuyhigefer
3 e[ BEHD FrrEfsmars sarsdlL_ab.
gper® : 1995 1996 1997 1998 1999 2000 2001
o pusd : 224 213 202 215 222 244 238
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